
Draw structural formulae and give the names for the five possible (noncyclic) isomers of C6H14. 

cyclopropane 

1,3-diethylcyclohexane 

5-ethyl-4-propyl-2-
heptyne

2,2-dimethly-3-
phenylhexane

1-methyl-3-
propylbenzene

CH2

+ CH2

-H
3

CH=
-CH3

H2 Ch

6 H2 2 CH2 Gotzo
Ch CH2-CHe

2CHz-CH3

cha-ChyMCHz HC-cEC-CH-c-CH
7 Carbon
i C22

triple bond
[ Hy

- [H3
"CH3

2

--- c- C =CH -CH- CH24 C
,yHyz

C: 6 CHy - "M
benzenea

CH
It's

CH

Eltz
C

↑CH3 CH CH

Go itin
C-CHeCH2CH

·an e
CHI

CH

3



  
           

  

& &
!

↑

propane Butane

&

1 - butene 2methyl propane

& 2

1 - propyne
2 pentene

2

-3

7-methyl pentant

~ diethyl

3.diethyl pentane



Use IUPAC naming rules to name the following hydrocarbon compounds: 
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Chemistry 30, Unit 3: Chemical Changes of Organic Compounds, 10 Questions

Your score was 9/10=90%. You took 4 minutes, 5 seconds to complete the test.

Click here to do this test again!

1. In which one of the following compounds is there a triple bond?

A) C2H4
B) CH3CHCHCH2CH3
C) CH2CHCH2CHCH2
D) CH3CH2CCCH2CH3

Correct. Your answer=D, Correct answer=D

Explanation:

Molecules with triple bonds have the general formula CnH2n-2 where n is the number of carbons. The only possible answer that fits this
general formula is d).

2.  

The correct name for the substance represented in the diagram is

A) 6-methylhept-2-ene
B) 6-methylheptane
C) 4-isopropylpent-2-ene
D) 2-methylhept-5-ene

Correct. Your answer=A, Correct answer=A

Explanation:

To work out the name for this molecule, we first need to find the longest carbon chain in the substance. Starting from the left and counting
along, there are 7 carbon atoms in the longest chain, with a CH3 attached to the penultimate carbon atom in the chain. This means that we
have a hept- chain. We then need to look for any unsaturation in the molecule and describe the position of any double or triple bonds. In this
case, there is a double bond between carbons 2 and 3 in the chain, and following IUPAC rules we give this the lowest number possible so we
have something-hept-2-ene. The something part is named according to any side groups attached to the hept- backbone. Counting along we
see a methyl (CH3) group attached to the sixth carbon atom, so we now have 6-methylhept-2-ene.

3.  

The correct name for the substance represented in the diagram is

A) methylhexane
B) 2-methylhexane



C) 3-methylhexane
D) 4-methylhexane

Correct. Your answer=B, Correct answer=B

Explanation:

Branches on an alkane molecule are always numbered so that the branches have the lowest number possible. So this molecule is numbered
from right to left. The single carbon branch has the name "methyl" and the six carbon main chain has the name hexane so the entire molecule
is called "2-methyl-hexane"

4.  

What is the name of the organic compound shown above?

A) 1-methyl-4,6-dichlorobenzene
B) 2,4-dichloromethylbenzene
C) 1,5-dichloro-2-methylbenzene
D) 1,3-dichloro-4-methylbenzene

Correct. Your answer=D, Correct answer=D

Explanation:

The circle inside the hexagon indicates the presence of a benzene ring. The chlorine (halogen) atoms present are the next most important
functional group. Numbering will start on the right-most chlorine, and proceed counterclockwise around the molecule.

The rules for naming are as follows:

· Similar to naming other hydrocarbons
· Benzene is treated as the ROOT
· Carbons on the benzene are numbered IF there is more than one side group

Numbering is based on priority of side group.
Numbering is continued in the direction of the nearest group.

· Highest priority
  -OH
  -NH2
  -halogen

· Lowest priority
  -Alkane groups with less than 6 carbons, in alphabetical order.

Both the above numbering follow the rules, but the one on the left ends up with a lower set of numbers (1,3,4 compared to 1,2,5) so the
numbering on the right is the correct numbering.

5. Which one of the following compounds could be used as starting material to produce a polyester?

A) 

B) 

C) 



D) 

Incorrect. Your answer=B, Correct answer=A

Explanation:

Polyesters are formed in a condensation reaction involving an alcohdiol and a dicarboxylic acid.

 is the only answer with two alcohol functional groups.

6.  

The example shown is a(n) ______________ reaction.

A) substitution
B) condensation
C) addition
D) elimination

Correct. Your answer=A, Correct answer=A

Explanation:

In the example given, the bromide is replaced by a hydroxide group. This is, by definition, a substitution.

7. When water reacts with an alkene in the presence of a catalyst, what compound is produced?

A) an alcohol
B) an aldehyde
C) a carboxylic acid
D) a ketone

Correct. Your answer=A, Correct answer=A

Explanation:

The alkene is reactive due to the strain placed on the double bond by having four electrons in close proximity to one another. Alkenes can
react with water in the form of steam, which contains enough thermal energy to initiate the reaction, or else a catalyst can be used to lower
the activation energy of the reaction allowing alkanes to react with water in its liquid form. The double bond breaks open, and the lone
electron exposed by this break attaches to the hydrogen to form a carbon-hydrogen bond. At the other end of the ethene molecule, the OH-
part of the water molecule donates its spare electron to the carbon to form a C-OH bond, which is the alcohol functional group.

8. Which of the following is an INCORRECT name for CH3COOH?

A) ethanedoic acid
B) ethanoic acid
C) acetic acid
D) vinegar

Correct. Your answer=A, Correct answer=A

Explanation:

CH3COOH has historical names as well as an IUPAC name. Acetic acid and vinegar are the common historical names for this substance,
ethanoic acid is the official IUPAC name. The odd one out on the list is ethanedoic acid.

9. 
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The correct name for the substance represented in the diagram is

A) 1-ethyl-4-propylbenzene
B) 4-ethyl-1-propylbenzene
C) 1-ethyl-4-cyclohexane
D) 1-propyl-4-ethylbenzene

Correct. Your answer=A, Correct answer=A

Explanation:

To work out the name for this molecule, we first start with the benzene ring. Attached to the benzene ring are an ethyl group and a propyl
group. We start with the ethyl group as this is first in the alphabet, so this is attached to position 1 on the benzene. Counting around the ring,
we see the propyl group is attached to the fourth carbon on the ring, so the correct name for this molecule is 1-ethyl-4-propylbenzene.

10. The molecular formula, C6H12 could represent

A) a cycloalkene
B) an alkyne
C) a cycloalkane
D) an alkane

Correct. Your answer=C, Correct answer=C

Explanation:

To solve this problem, calculate the ratio of hydrogen atoms to carbon atoms to determine whether you have an alkane, alkene or an alkyne.
In this case, the formula is C6H12, so there are exactly 2 hydrogens for each carbon, which means this is an alkene. However, you need to
take care as cyclic groups can change the ratio, and this is the case in this question. We have cycloalkenes and cycloalkanes in the list of
answers. Cycloalkanes also have a ratio of 2H:C in their molecular formula. As there are no alkenes in the list, we can safely assume that the
molecule is a cycloalkane.

Top Score Entry

If you would like to have your initials appear next to the name

of your school in the Top Score List for this practice exam,

please provide them below and click on the "Submit Initials"

button. Otherwise, if you are done reviewing your test, you

can close this window.

Initials: 

Submit Initials

Teachers - Give This Specific Test to Multiple
Students!

Teachers, if you would like to give multiple students this exact

test to practice on ExamBank, copy the link below and then

share it with them. If they visit the link, after logging in, they

will be able to do this specific test online exactly as it appears.

Of course, they can share their results with you when they're

done too.

https://alberta.exambank.com/cgi-
bin/examinator2/1398?

os=1753388623&ok=3847565137

Send Your Results to Someone

If you want to share your score on this test with someone, you

can enter the details below. Please make sure you get their

email address right!

Your Name:

Email to send
results to:

Secret Word
(*):

(*) Your secret word is a word that your parent or teacher may

give you if they want to verify who you are. Just leave this

blank if you don't have one.

Send Your Results

Request took 0.135 seconds.


